Zeitschrift für angewandte Mathematik und Physik ZAMP



Non-periodic discrete Schrödinger equations: ground state solutions

Guanwei Chen and Martin Schechter

Abstract. In this paper, we study a class of non-periodic discrete Schrödinger equations with superlinear non-linearities at infinity. Under conditions weaker than those previously assumed, we obtain the existence of ground state solutions, i.e., non-trivial solutions with least possible energy. In addition, an example is given to illustrate our results.

Mathematics Subject Classification. 39A12 · 39A70 · 35Q51 · 35Q55.

Keywords. Non-periodic discrete Schrödinger equations · Superlinear · Ground state solutions · Variational methods.

1. Introduction and main results

Discrete nonlinear Schrödinger equations (DNLS) play an important role in describing many phenomena, ranging from solid-state and condensed matter physics to biology, including nonlinear optics [1], biomolecular chains [5], Bose–Einstein condensates [8]. Some authors have successfully applied the DNLS equations to the modeling of localized pulse propagation in optical fibers and wave guides, to the study of energy relaxation in solids and to the modeling of self-trapping of vibrational energy in proteins; see [6,7,17].

In this paper, we study the following discrete nonlinear equation

$$\begin{cases} -\Delta u_n + V_n - \omega u_n = \sigma g_n(u_n), & n \in \mathbb{Z}, \\ \lim_{|n| \to \infty} u_n = 0, \end{cases}$$

$$(1.1)$$

where $\Delta u_n := u_{n+1} + u_{n-1} - 2u_n$ is the discrete Laplacian in one spatial dimension. The discrete potential $V = (V_n)_{n \in \mathbb{Z}}$ is a sequence of real numbers, $\omega \in \mathbb{R}$, $\sigma = \pm 1$ and $(g_n)_{n \in \mathbb{Z}}$ is a function sequence. The problem (1.1) appears when we look for *standing waves* of the *discrete nonlinear Schrödinger* (DNLS) equation

$$i\dot{\psi}_n = -\Delta\psi_n + V_n\psi_n - \sigma|\psi_n|^2\psi_n, \quad n \in \mathbb{Z}.$$
(1.2)

By the definition of standing waves, we want $\psi_n = u_n e^{-i\omega t}$ and $\lim_{|n|\to\infty} \psi_n = 0$, where $\{u_n\}$ is a real-valued sequence and $\omega \in \mathbb{R}$ is the temporal frequency. Then (1.2) becomes

$$\begin{cases} -\Delta u_n + V_n - \omega u_n = \sigma |u_n|^2 u_n, & n \in \mathbb{Z}, \\ \lim_{|n| \to \infty} u_n = 0. \end{cases}$$
 (1.3)

Thus, the problem of the existence of standing waves of (1.2) has been reduced to that of the existence of solutions of (1.3) in the space l^2 of two-sided infinite sequences. Note that every element of l^2 automatically satisfies $\lim_{|n|\to\infty} u_n = 0$. Clearly, (1.3) is a special case of (1.1) with $g_n(u_n) = |u_n|^2 u_n$.

Research supported by National Natural Science Foundation of China (No. 11401011).

In contrast to the *periodic* case of (1.1) which was studied by many authors (see [2–4,9,10,14,15,18,21–23] and their references), we are interested in the *non-periodic* case of (1.1) (i.e., V_n and g_n are all non-periodic). As we know, periodic assumptions are very important in the study of DNLS equations since periodicity is used to control the lack of compactness due to the fact that DNLS equations are set on all \mathbb{Z} . But non-periodic equations are quite different from the ones described in periodic cases. Recently, some authors [11,19,20] studied *non-periodic* DNLS equations. The authors of [11] obtained the existence and multiplicity of non-trivial solutions for (1.1) with $g_n(s)$ being asymptotically linear as $|s| \to \infty$ by using the critical point theory for smooth functionals. The authors of [19] obtained the existence of non-trivial solutions for a special superlinear case of (1.1) with $g_n(s) = |s|^{p-2}s$ (p > 2) by using the Nehari manifold approach. We will give some comparisons between the results of [20] and our results below (our Theorem 1.2).

In this paper, we are mainly interested in the case where $\sigma = 1$. The other case when $\sigma = -1$ can also be discussed if we replace \triangle by $-\triangle$, V by -V and ω by $-\omega$, respectively. But the corresponding results will be slightly different from the case $\sigma = 1$, see Theorem 2.3 in [20]. Next, we need the standard real sequence spaces l^q , $q \in [1, \infty)$, endowed with the norm

$$||u||_{l^q} := \left(\sum_{n=-\infty}^{+\infty} |u_n|^q\right)^{1/q}, \qquad ||u||_{l^\infty} := \max_{n \in \mathbb{Z}} |u_n|.$$

We have the well-known embedding between such spaces:

$$l^q \subset l^p, \quad \|u\|_{l^p} \le \|u\|_{l^q}, \quad 1 \le q \le p \le \infty.$$

Note that the domain \mathbb{Z} is unbounded. Thus, to overcome the loss of compactness caused by the unboundedness of the domain \mathbb{Z} , we will use the following assumption:

 $(\mathbf{V_1})$ $V = (V_n)_{n \in \mathbb{Z}}$ is bounded from below and satisfies $\lim_{|n| \to \infty} V_n = +\infty$.

Then condition (V_1) implies that the spectrum $\sigma(-\Delta + V)$ is discrete and consists of simple eigenvalues accumulating to $+\infty$ (see [19]). Now we can assume that

$$\gamma_1 < \gamma_2 < \dots < \gamma_k < \dots \to +\infty$$

are all eigenvalues of $L := -\Delta + V$, which is defined by $Lu_n = -\Delta u_n + V_n u_n$ for $u = (u_n)_{n \in \mathbb{Z}} \in l^2$. Obviously, the operator L is an unbounded self-adjoint operator in l^2 . Let E be the forms domain of L, i.e., the domain of $L^{1/2}$. Since the operator $-\Delta$ is bounded in l^2 , it is easy to see that

$$E = \{ u \in l^2 : V^{1/2} u \in l^2 \},\$$

which is a Hilbert space. Here, $V^{1/2}u$ is defined by $(V^{1/2}u)_n = V_n^{1/2}u_n$. The corresponding action functional of (1.1) is

$$\Phi(u) := \frac{1}{2} ((L - \omega)u, u)_{l^2} - \sum_{n = -\infty}^{+\infty} G_n(u_n), \quad u \in E,$$
(1.4)

where $(\cdot, \cdot)_{l^2}$ is the inner product of l^2 and the corresponding norm of l^2 is denoted by $\|\cdot\|_{l^2}$. In this paper, we focus on the following cases:

- (L₁) $\gamma_{k_0} \omega := a < 0 < b := \gamma_{k_0+1} \omega$ for some $k_0 \ge 1$ (the indefinite case).
- (**L**₂) $\omega < \gamma_1$ (the positive definite case).
- (**L**₃) $\omega := \gamma_{k'_0}$ for some $k'_0 \ge 1$ (ω is an eigenvalue of L).

We should mention that Schechter [13] obtained the existence of ground state solutions for a *periodic* Schrödinger equation by using the variant weak linking theorem in [12]. In this paper, we shall adopt the variant weak linking theorem to study the *non-periodic* discrete Schrödinger equation (1.1). To the

best of our knowledge, this technique has not been used for discrete equations. In addition, our results improve and generalize the related results. For non-linearities g_n , we assume that

- $(\mathbf{G_1}) \quad g_n \in C(\mathbb{R}, \mathbb{R}), \, |g_n(s)| \le c(1+|s|^{p-1}) \text{ for some } c > 0 \text{ and } p > 2, \quad n \in \mathbb{Z}, \, s \in \mathbb{R}.$
- (**G**₂) $G_n(s) := \int_{0}^{s} g_n(t) dt \ge \frac{1}{2}as^2$, here the constant *a* is defined in (L_1) , $n \in \mathbb{Z}, s \in \mathbb{R}$.
- $\begin{aligned} & (\mathbf{G_3}) \quad |g_n(s)| \leq \overset{\circ}{\gamma} |s| \text{ if } |s| < \delta \text{ for some } 0 < \gamma < b \text{ and } \delta > 0, \quad n \in \mathbb{Z}, \ s \in \mathbb{R}. \\ & (\mathbf{G_4}) \quad \lim_{|s| \to \infty} \frac{G_n(s)}{s^2} = +\infty \text{ and } G_n(s) \geq -W_n \text{ for some } W = (W_n)_{n \in \mathbb{Z}} \in l^1, \quad n \in \mathbb{Z}, \ s \in \mathbb{R}. \end{aligned}$
- (**G**₅) $G_n(s+l) G_n(s) rg_n(s)l + \frac{(r-1)^2}{2}g_n(s)s \ge -W_n, \quad r \in [0,1], \ n \in \mathbb{Z}, \ s \in \mathbb{R}.$

Our results read as follows:

Theorem 1.1. If $\sigma = 1$, (V_1) , (G_1) - (G_5) and (L_1) (or (L_2) , or (L_3)) hold, then (1.1) has at least one non-trivial solution u. Moreover, if

$$g_n(s) = o(s) \quad as \ s \to 0, \quad n \in \mathbb{Z}, \ s \in \mathbb{R},$$

$$(1.5)$$

then u decays exponentially at infinity, i.e., there are two positive constants $\tau, \nu > 0$ such that

$$|u_n| \le \tau \mathrm{e}^{-\nu|n|}, \quad n \in \mathbb{Z}.$$

$$(1.6)$$

Theorem 1.2. Let $\sigma = 1$ and \mathcal{M} be the collection of solutions of (1.1). Then there is a solution that minimizes Φ in (1.4) over \mathcal{M} . In addition, if (1.5) holds, then (1.1) has a ground state solution, i.e., non-trivial solution with least possible energy of (1.1).

We mention that the authors of [20] also considered the cases $((L_1)-(L_3))$ and obtained the existence and multiplicity (if g_n is odd) of non-trivial solutions for (1.1) with $g_n(s)$ being superlinear as $|s| \to \infty$ by using a linking theorem. But it is worth pointing out that the results in [20] are based on the following assumptions

$$g_n \in C^1(\mathbb{R}, \mathbb{R}), \quad |g_n(s)| \le c(1+|s|^{p-1}) \text{ for some } c > 0 \text{ and } p > 2,$$
 (1.7)

$$\lim_{s \to 0} \frac{g_n(s)}{|s|} = 0 \quad (\text{i.e., } g_n \text{ is superliner near } 0), \tag{1.8}$$

and the Ambrosetti–Rabinowitz condition

$$\exists \nu > 2, \quad \text{s.t.} \quad 0 < \nu G_n(s) \le g_n(s)s, \quad \forall s \in \mathbb{R} \setminus \{0\}.$$

$$(1.9)$$

However, we obtain the existence of *ground state* solutions of (1.1) by using the variant weak linking theorem in [12] under weaker conditions (G_1) - (G_4) than the above conditions (1.7)-(1.9). The condition (G_5) is the discrete counterpart of the Schechter condition [13], which is not comparable with the Ambrosetti–Rabinowitz condition (1.9).

Example 1.1. Here we give an example to illustrate our Theorems 1.1 and 1.2. Let

 $g_n(s) := a_n |s|^{p-2} s, \quad p > 2, \qquad s \in \mathbb{R}, \ n \in \mathbb{Z},$

where $\{a_n\}$ is non-periodic and $0 < a_n < C$ for some $C > 0, \forall n \in \mathbb{Z}$. Clearly, the function g_n satisfies conditions (G_1) - (G_4) with $W_n = 0$ for all $n \in \mathbb{Z}$. Note that

$$\frac{g_n(s)}{|s|} = \frac{a_n |s|^{p-2} s}{|s|} = \begin{cases} -a_n |s|^{p-2}, & s \in (-\infty, 0), \\ a_n |s|^{p-2}, & s \in (0, +\infty), \end{cases}$$

so it is strictly increasing on $(-\infty, 0)$ and $(0, +\infty)$. Therefore, g_n satisfies the condition (G_5) by the argument in [13].

The remainder of this paper is organized as follows. In Sect. 2, we give some preliminary lemmas, which are useful in the proofs of Theorems 1.1-1.2. In Sect. 3, we give the detailed proofs of our main results.

2. Variational frameworks and preliminary lemmas

In the following, we will denote generic constants by C, and we always assume that $\sigma = 1$, (V_1) and $(G_1)-(G_5)$ are satisfied. As before, we let $L := -\Delta + V$.

If (L_1) holds, then we have $l^2 = (l^2)^- \oplus (l^2)^+$, where $(l^2)^+$ and $(l^2)^-$ are the positive and negative spectral subspaces of $L - \omega$ in l^2 , respectively. It is easy to see that the Hilbert space

$$E = \{ u \in l^2 : V^{1/2} u \in l^2 \} = E^- \oplus E^+,$$
(2.1)

where $E^{\pm} := E \cap (l^2)^{\pm}$.

For any $u = u^+ + u^-$, $v = v^+ + v^- \in E = E^+ \oplus E^-$, we can define an inner product (\cdot, \cdot) and the corresponding norm $\|\cdot\|$ on E by

$$(u,v) = ((L-\omega)u^+, v^+)_{l^2} - ((L-\omega)u^-, v^-)_{l^2} \quad \text{and} \quad ||u|| = (u,u)^{\frac{1}{2}},$$
(2.2)

respectively. Hence, by (L_1) , we have

$$- \|u^{-}\|^{2} = ((L - \omega)u^{-}, u^{-})_{l^{2}} \le a\|u^{-}\|^{2}_{l^{2}}, \quad \forall u^{-} \in E^{-}$$
(2.3)

and

$$||u^{+}||^{2} = ((L - \omega)u^{+}, u^{+})_{l^{2}} \ge b||u^{+}||_{l^{2}}^{2}, \quad \forall u^{+} \in E^{+},$$
(2.4)

where a and b are defined in (L_1) . Thus, Φ defined in (1.4) can be rewritten as

$$\Phi(u) = \frac{1}{2} \|u^+\|^2 - \frac{1}{2} \|u^-\|^2 - \sum_{n=-\infty}^{+\infty} G_n(u_n), \quad u \in E$$

Let $\Psi(u) := \sum_{n=-\infty}^{+\infty} G_n(u_n)$. Then $\Phi, \Psi \in C^1(E, \mathbb{R})$, and the derivative is given by

$$\langle \Psi'(u), v \rangle = \sum_{n=-\infty}^{+\infty} g_n(u_n) v_n, \quad \langle \Phi'(u), v \rangle = (u^+, v^+) - (u^-, v^-) - \langle \Psi'(u), v \rangle, \quad \forall u, v \in E,$$

which imply that (1.1) is the corresponding Euler–Lagrange equation for Φ . Therefore, we have reduced the problem of finding a non-trivial solution of (1.1) to that of seeking a nonzero critical point of the functional Φ on E.

Remark 2.1. The following facts show that the proofs of $(L_2)-(L_3)$ will be similar to the proof of (L_1) , so we will only give the detailed proof in the indefinite case (L_1) .

(1) If (L_2) holds (i.e., the positive definite case), we will let $E^- := \{0\}$. Then $E = E^- \oplus E^+$, where $E^+ = E$. Thus, by (L_2) , we have

$$(u,v) = ((L-\omega)u,v)_{l^2}$$
 and $||u||^2 = (u,u) \ge (\gamma_1 - \omega)||u||_{l^2}^2$.

Thus,

$$\Phi(u) = \frac{1}{2} ||u||^2 - \sum_{n=-\infty}^{+\infty} G_n(u_n), \quad u \in E.$$

(2) If (L_3) holds (i.e., ω is an eigenvalue of L), we let

$$W^{-} := \operatorname{span}\{e_{1}, \dots, e_{k'_{0}-1}\} \cap E, \ W^{0} := \operatorname{span}\{e_{k'_{0}}\} \cap E, \ E^{+} := \overline{\operatorname{span}\{e_{k'_{0}+1}, \dots, \}} \cap E.$$

where $W^- = \{0\}$ if $k'_0 = 1$ and $\{e_k\}$ are the associated normalized eigenfunctions with γ_k , that is, $Le_k = \gamma_k e_k$, $||e_k||_{l^2} = 1$. Then $E = W^- \oplus W^0 \oplus E^+ = E^- \oplus E^+$, where $E^- = W^- \oplus W^0$. Obviously, the quadratic part of Φ , $((L-\omega)u, v)_{l^2}$ is positive on E^+ and negative on W^- and zero on W^0 . We introduce, respectively, on E the following new inner product and norm:

$$(u,v) := (u^0, v^0)_{l^2} + (|L|^{1/2}u, |L|^{1/2}v)_{l^2}, \quad ||u|| = (u, u)^{1/2}$$

where $u, v \in E = W^- \oplus W^0 \oplus E^+$ with $u = u^- + u^0 + u^+$ and $v = v^- + v^0 + v^+$. Clearly, the decomposition $E = W^- \oplus W^0 \oplus E^+$ is orthogonal with respect to both inner products (\cdot, \cdot) and $(\cdot, \cdot)_{l^2}$. Thus, by (L_3) , we have

$$-\|u^{-}\|^{2} = ((L-\omega)u^{-}, u^{-})_{l^{2}} \le (\gamma_{k_{0}^{\prime}-1} - \omega)\|u^{-}\|_{l^{2}}^{2}, \quad \forall u^{-} \in E^{-}$$

and

$$||u^+||^2 = ((L-\omega)u^+, u^+)_{l^2} \ge (\gamma_{k'_0+1} - \omega)||u^+||^2_{l^2}, \quad \forall u^+ \in E^+.$$

Thus,

$$\Phi(u) = \frac{1}{2} \|u^+\|^2 - \frac{1}{2} \|u^-\|^2 - \sum_{n=-\infty}^{+\infty} G_n(u_n), \quad u \in E,$$

where $||u^-|| = 0$ if $k'_0 = 1$ in (L_3) . For the cases (L_2) and (L_3) , if $||u^-|| = 0$, we will replace the condition $G_n(s) \ge \frac{1}{2}as^2$ in (G_2) by $G_n(s) \ge 0$.

The following abstract critical point theorem plays an important role in proving our main results (cf. [12]). Let E be a Hilbert space with norm $\|\cdot\|$ and have an orthogonal decomposition $E = N \oplus N^{\perp}$, where $N \subset E$ is a closed and separable subspace. There exists a norm $|v|_{\omega}$ satisfying $|v|_{\omega} \leq ||v||$ for all $v \in N$ which induces a topology equivalent to the weak topology of N on bounded subset of N. For $u = v + w \in E = N \oplus N^{\perp}$ with $v \in N$, $w \in N^{\perp}$, we define $|u|_{\omega}^2 = |v|_{\omega}^2 + ||w||^2$. Particularly, if $(u_n = v_n + w_n)$ is $\|\cdot\|$ -bounded and $u_n \stackrel{|\cdot|_{\omega}}{\to} u$, then $v_n \to v$ weakly in N, $w_n \to w$ strongly in N^{\perp} , $u_n \to v + w$ weakly in E.

Let $E = E^- \oplus E^+$, $z_0 \in E^+$ with $||z_0|| = 1$. Let $N := E^- \oplus \mathbb{R}z_0$ and $E_0^+ := N^\perp = (E^- \oplus \mathbb{R}z_0)^\perp$. For R > 0, let

$$Q := \left\{ u := u^{-} + sz_0 : s \in \mathbb{R}^+, u^{-} \in E^-, \|u\| < R \right\}$$

with $p_0 = s_0 z_0 \in Q$, $s_0 > 0$. We define

$$B := \left\{ u := sz_0 + w^+ : s \in \mathbb{R}, w^+ \in E_0^+, \|sz_0 + w^+\| = s_0 \right\}.$$

For $\Phi \in C^1(E, \mathbb{R})$, define $\Gamma := \{h|h : [0,1] \times \overline{Q} \mapsto E \text{ is } | \cdot |_{\omega}\text{-continuous }, h(0,u) = u, \quad \Phi(h(s,u)) \leq \Phi(u), \quad \forall u \in \overline{Q}. \text{ For any } (s_0, u_0) \in [0,1] \times \overline{Q}, \text{ there is a } | \cdot |_{\omega}\text{-neighborhood } U_{(s_0,u_0)} \text{ such that } \{u - h(t,u) : (t,u) \in U_{(s_0,u_0)} \cap ([0,1] \times \overline{Q})\} \subset E_{fin}.\}$, where E_{fin} denotes various finite-dimensional subspaces of $E, \quad \Gamma \neq 0$ since $id \in \Gamma$.

The variant weak linking theorem is:

Theorem A. ([12]) The family of C^1 -functional $\{\Phi_{\lambda}\}$ has the form

$$\Phi_{\lambda}(u) := \lambda I(u) - J(u), \quad \forall \lambda \in [1, \lambda_0].$$

where $\lambda_0 > 1$. Assume

(a) $I(u) \ge 0, \forall u \in E, \Phi_1 = \Phi.$

(b) $I(u) + |J(u)| \to +\infty$ as $||u|| \to \infty$.

- (c) Φ_{λ} is $|\cdot|_{\omega}$ -upper semicontinuous, Φ'_{λ} is weakly sequentially continuous on E. Moreover, Φ_{λ} maps bounded sets to bounded sets.
- (d) $\sup_{\partial Q} \Phi_{\lambda} < \inf_{B} \Phi_{\lambda}, \ \forall \lambda \in [1, \lambda_{0}].$

Then for almost all $\lambda \in [1, \lambda_0]$, there exists a sequence $\{u_n\}$ such that

$$\sup_{n} \|u_n\| < \infty, \quad \Phi'_{\lambda}(u_n) \to 0, \quad \Phi_{\lambda}(u_n) \to c_{\lambda},$$

where $c_{\lambda} := \inf_{h \in \Gamma} \sup_{u \in \bar{Q}} \Phi_{\lambda}(h(t, u)) \in [\inf_{B} \Phi_{\lambda}, \sup_{\bar{Q}} \Phi_{\lambda}].$

In order to apply Theorem A, we shall prove a few lemmas. We pick λ_0 such that $1 < \lambda_0 < \min[2, b/\gamma]$. For $1 \le \lambda \le \lambda_0$, we consider

$$\Phi_{\lambda}(u) := \frac{\lambda}{2} \|u^{+}\|^{2} - \left(\frac{1}{2} \|u^{-}\|^{2} + \sum_{n=-\infty}^{+\infty} G_{n}(u_{n})\right) := \lambda I(u) - J(u).$$

It is easy to see that Φ_{λ} satisfies conditions (a) in Theorem A. Conditions (b) and (d) will be proved later. To see (c), if $u^j \stackrel{|\cdot|_{\omega}}{\to} u$ and $\Phi_{\lambda}(u^j) \geq c$, then there is a renamed subsequence satisfying $(u^j)^+ \to u^+$ and $(u^j)^- \to u^-$ in $E, u^j_n \to u_n$ for all $n \in \mathbb{Z}$. It follows from the weak lower semicontinuity of the norm, Fatou's lemma and the fact $G_n(s) \geq -W_n$ for all $n \in \mathbb{Z}$ and $s \in \mathbb{R}$ in (G_4) that

$$c \leq \limsup_{j \to \infty} \Phi_{\lambda}(u^{j})$$

=
$$\lim_{j \to \infty} \sup_{n \to \infty} \left[\frac{\lambda}{2} \| (u^{j})^{+} \|^{2} - \left(\frac{1}{2} \| (u^{j})^{-} \|^{2} + \sum_{n = -\infty}^{+\infty} \left(G_{n}(u_{n}^{j}) + W_{n} \right) \right) + \sum_{n = -\infty}^{+\infty} W_{n} \right]$$

$$\leq \frac{\lambda}{2} \| u^{+} \|^{2} - \liminf_{j \to \infty} \left[\frac{1}{2} \| (u^{j})^{-} \|^{2} + \sum_{n = -\infty}^{+\infty} \left(G_{n}(u_{n}^{j}) + W_{n} \right) \right] + \sum_{n = -\infty}^{+\infty} W_{n}$$

$$\leq \frac{\lambda}{2} \| u^{+} \|^{2} - \left(\frac{1}{2} \| u^{-} \|^{2} + \sum_{n = -\infty}^{+\infty} G_{n}(u_{n}) \right) = \Phi_{\lambda}(u).$$

Hence, $\Phi_{\lambda}(u) \geq c$, which means that Φ_{λ} is $|\cdot|_{\omega}$ -upper semicontinuous. Next, we prove Φ'_{λ} is weakly sequentially continuous. If $u^{j} \rightarrow u$ in E, then there is renamed subsequence satisfying $(u^{j})^{+} \rightarrow u^{+}$, $(u^{j})^{-} \rightarrow u^{-}$ in E and $u^{j}_{n} \rightarrow u_{n}$ for all $n \in \mathbb{Z}$. Thus,

$$((u^j)^+,\varphi) \to ((u)^+,\varphi), \quad ((u^j)^-,\varphi) \to ((u)^-,\varphi), \quad \forall \varphi \in E$$

Note that

$$\langle \Phi'_{\lambda}(u^j), \varphi \rangle = \lambda((u^j)^+, \varphi) - ((u^j)^-, \varphi) - \sum_{n=-\infty}^{+\infty} g_n(u_n^j)\varphi_n, \quad \forall \varphi \in E.$$

Hence, we only need to prove

$$\sum_{n=-\infty}^{+\infty} \left(g_n(u_n^j) - g_n(u_n) \right) \varphi_n \to 0 \quad \text{as } j \to \infty.$$

If this is so, then

$$\langle \Phi'_{\lambda}(u^{j}), \varphi \rangle \to \lambda((u)^{+}, \varphi) - ((u)^{-}, \varphi) - \sum_{n=-\infty}^{+\infty} g_{n}(u_{n})\varphi_{n} = \langle \Phi'_{\lambda}(u), \varphi \rangle \quad \text{as } j \to \infty,$$

that is, Φ'_{λ} is weakly sequentially continuous. Note that if $\varphi \in l^2 \subset l^p$ for $p \geq 2$, then for any $\varepsilon > 0$ there exists a positive constant $N_0 \in \mathbb{Z}$ such that

$$\left(\sum_{\{n\in\mathbb{Z}:\ |n|>N_0\}}\varphi_n^2\right)^{1/2}\leq\varepsilon,\quad \left(\sum_{\{n\in\mathbb{Z}:\ |n|>N_0\}}|\varphi_n|^p\right)^{1/p}\leq\varepsilon.$$

It follows from (G_1) , (G_3) , Hölder's inequality, $||u^j||_{l^p} \le ||u^j||_{l^2} \le C' ||u^j|| \le C$, $||u||_{l^p} \le ||u||_{l^2} \le C' ||u|| \le C$ (which is due to $E \subset l^2 \subset l^p$ and $u^j \rightharpoonup u$ in E), that

$$\sum_{\{n\in\mathbb{Z}: |n|>N_0\}} \left| \left(g_n(u_n^j) - g_n(u_n) \right) \varphi_n \right|$$

$$\leq C \left[\sum_{\{n\in\mathbb{Z}: |n|>N_0\}} \left(|u_n^j| + |u_n^j|^{p-1} \right) |\varphi_n| + \sum_{\{n\in\mathbb{Z}: |n|>N_0\}} \left(|u_n| + |u_n|^{p-1} \right) |\varphi_n| \right]$$

$$\leq C\varepsilon,$$

where C', C are generic constants. It follows from $u_n^j \to u_n$ for all $n \in \mathbb{Z}$ that

$$\begin{aligned} \left| \sum_{n=-\infty}^{+\infty} \left(g_n(u_n^j) - g_n(u_n) \right) \varphi_n \right| &\leq \sum_{\{n \in \mathbb{Z}: |n| \leq N_0\}} \left| \left(g_n(u_n^j) - g_n(u_n) \right) \varphi_n \right| \\ &+ \sum_{\{n \in \mathbb{Z}: |n| > N_0\}} \left| \left(g_n(u_n^j) - g_n(u_n) \right) \varphi_n \right| \\ &\to 0 \quad \text{as } j \to \infty, \end{aligned}$$

that is, $\sum_{n=-\infty}^{+\infty} (g_n(u_n^j) - g_n(u_n)) \varphi_n \to 0$ as $j \to \infty$. It remains to verify conditions (b) and (d). We do this by means of the following three lemmas:

Proof. By the definition of $\Phi(u)$ and (G_4) , we have

$$J(u) + I(u) = \frac{1}{2} ||u^+||^2 + \frac{1}{2} ||u^-||^2 + \sum_{n=-\infty}^{+\infty} G_n(u_n)$$

$$\geq \frac{1}{2} ||u||^2 - \sum_{n=-\infty}^{+\infty} |W_n| \to +\infty \quad \text{as } ||u|| \to +\infty,$$

which is due to $\sum_{n=-\infty}^{+\infty} |W_n| < +\infty$.

Therefore, Lemma 2.1 implies that condition (b) holds. We proceed to verify condition (d) by means of the following two lemmas:

Lemma 2.2. There are two positive constants $\epsilon, s_0 > 0$ such that

$$\Phi_{\lambda}(u) \ge \epsilon, \quad u \in E^+, \quad \|u\| = s_0, \quad \lambda \in [1, \lambda_0].$$

Proof. For $u \in E^+$, by (G_1) , (G_3) , (2.4) and the fact that $||u||_{l^p} \leq ||u||_{l^2} \leq ||u||$, we have

$$\begin{split} \Phi_{\lambda}(u) &\geq \frac{1}{2} \|u\|^{2} - \sum_{n=-\infty}^{+\infty} G_{n}(u_{n}) \\ &= \frac{1}{2} \|u\|^{2} - \sum_{\{n \in \mathbb{Z}: \ |u_{n}| < \delta\}} G_{n}(u_{n}) - \sum_{\{n \in \mathbb{Z}: \ |u_{n}| \geq \delta\}} G_{n}(u_{n}) \\ &\geq \frac{1}{2} \|u\|^{2} - \frac{1}{2} \gamma \sum_{\{n \in \mathbb{Z}: \ |u_{n}| < \delta\}} |u_{n}|^{2} - c \sum_{\{n \in \mathbb{Z}: \ |u_{n}| \geq \delta\}} (|u_{n}|^{p} + |u_{n}|) \\ &\geq \frac{1}{2} \|u\|^{2} - \frac{\gamma}{b} \frac{1}{2} \|u\|^{2} - \underline{C} \|u\|^{p} \\ &= \frac{1}{2} \|u\|^{2} (1 - \frac{\gamma}{b} - 2C \|u\|^{p-2}), \quad 0 < \gamma < b, \end{split}$$

where the inequality marked by underlining is due to the following facts. Note that $|u_n| \ge \delta$. if we pick a constant C_1 such that $C_1 \ge \frac{1}{\delta^{p-1}}$, then $|u_n| \le C_1 |u_n|^p$, which together with the Sobolev imbedding theorem implies

$$c \sum_{\{n \in \mathbb{Z}: |u_n| \ge \delta\}} (|u_n|^p + |u_n|) \le c(1 + C_1) \sum_{\{n \in \mathbb{Z}: |u_n| \ge \delta\}} |u_n|^p \le C ||u||^p.$$

This implies the conclusion if we take ||u|| sufficiently small.

It is not hard to check that Lemma 2.2 implies that $\inf_B \Phi_{\lambda} > 0$. We shall prove that $\sup_{\partial Q} \Phi_{\lambda} \leq 0$, that is, the following Lemma:

Lemma 2.3. There is an R > 0 such that

$$\Phi_{\lambda}(u) \leq 0, \quad u \in \partial Q_R, \quad \lambda \in [1, \lambda_0],$$

where $Q_R := \{ u := v + sz_0 : s \ge 0, v \in E^-, z_0 \in E^+ \text{ with } \|z_0\| = 1, \|u\| \le R \}.$

Proof. If not, then there exist $R_j \to +\infty$, $\lambda_j \in [1, \lambda_0]$ and $u^j = v^j + s_j z_0 \in \partial Q_{R_j}$ $(v^j \in E^-)$ such that $\Phi_{\lambda_j}(u^j) > 0$. If $s_j = 0$, then by (G_2) and (2.3), we have

$$\Phi_{\lambda_j}(u^j) = \Phi_{\lambda_j}(v^j) = -\frac{1}{2} \|v^j\|^2 - \sum_{n=-\infty}^{+\infty} G_n(v_n^j) \le -\frac{1}{2} \|v^j\|^2 - \frac{1}{2} a \|v^j\|_{l^2}^2 \le 0.$$

This produces a contradiction. Therefore, $s_j \neq 0$ and $||u^j||^2 = ||v^j||^2 + s_j^2 = R_j^2$. Let $\tilde{u}^j = \frac{u^j}{||u^j||} = \tilde{s}_j z_0 + \tilde{v}^j$, then

$$\|\widetilde{u}^{j}\|^{2} = \|\widetilde{v}^{j}\|^{2} + \widetilde{s}_{j}^{2} = 1.$$

It follows from $\Phi_{\lambda_i}(u^j) > 0$ and the definition of Φ_{λ_i} that

$$0 < \frac{\Phi_{\lambda_j}(u^j)}{\|u^j\|^2} = \frac{1}{2} \left(\lambda_j \widetilde{s}_j^2 - \|\widetilde{v}^j\|^2 \right) - \sum_{n=-\infty}^{+\infty} \frac{G_n(u^j_n)}{|u^j_n|^2} |\widetilde{u}_n^j|^2$$

$$= \frac{1}{2} \left[(\lambda_j + 1) \widetilde{s}_j^2 - 1 \right] - \sum_{n=-\infty}^{+\infty} \frac{G_n(u^j_n)}{|u^j_n|^2} |\widetilde{u}_n^j|^2.$$
(2.5)

Obviously, $\{\tilde{s}_j\}$ and $\{\lambda_j\}$ are bounded. Thus, there are renamed subsequences such that $\tilde{s}_j \to \tilde{s}$ and $\lambda_j \to \lambda$ as $j \to \infty$, and there is a renamed subsequence such that $\tilde{u}^j = \frac{u^j}{\|u^j\|} = \tilde{s}_j z_0 + \tilde{v}^j \to \tilde{u} = \tilde{s} z_0 + \tilde{v}$ in E and $\tilde{u}_n^j \to \tilde{u}_n$ for all $n \in \mathbb{Z}$ as $j \to \infty$.

Case 1 If $\tilde{u} \neq 0$. Without loss of generality, we let Ω_0 be the subset of \mathbb{Z} where $\tilde{u}_n \neq 0$. Then for all $n \in \Omega_0$, we have $|u_n^j| = |\tilde{u}_n^j| \cdot ||u^j|| \to +\infty$ since $||u^j|| = R_j \to +\infty$ as $j \to \infty$. It follows from (G_4) and the facts $\sum_{n=-\infty}^{+\infty} |W_n| < +\infty$ and $||u^j|| = R_j \to +\infty$ as $j \to \infty$ that

$$\sum_{n=-\infty}^{+\infty} \frac{G_n(u_n^j)}{|u_n^j|^2} |\widetilde{u}_n^j|^2 = \sum_{n\in\Omega_0} \frac{G_n(u_n^j)}{|u_n^j|^2} |\widetilde{u}_n^j|^2 + \sum_{n\in\mathbb{Z}\setminus\Omega_0} \frac{G_n(u_n^j)}{|u_n^j|^2} |\widetilde{u}_n^j|^2$$
$$\geq \sum_{n\in\Omega_0} \frac{G_n(u_n^j)}{|u_n^j|^2} |\widetilde{u}_n^j|^2 - \frac{1}{\|u^j\|^2} \sum_{n\in\mathbb{Z}\setminus\Omega_0} |W_n| \to +\infty \quad \text{as } j \to \infty,$$

which contradicts (2.5).

Case 2 If $\tilde{u} = 0$. By (G_4) and the facts $\sum_{n=-\infty}^{+\infty} |W_n| < +\infty$ and $||u^j|| = R_j \to +\infty$ as $j \to \infty$,

$$\sum_{n=-\infty}^{+\infty} \frac{G_n(u_n^j)}{|u_n^j|^2} |\widetilde{u}_n^j|^2 = \frac{1}{\|u^j\|^2} \sum_{n=-\infty}^{+\infty} G_n(u_n^j) \ge -\frac{1}{\|u^j\|^2} \sum_{n=-\infty}^{+\infty} |W_n| \to 0 \quad \text{as } j \to \infty.$$

Thus,

$$\liminf_{n \to \infty} \sum_{n = -\infty}^{+\infty} \frac{G_n(u_n^j)}{|u_n^j|^2} |\widetilde{u}_n^j|^2 \ge 0.$$
(2.6)

Therefore, by (2.5) and (2.6), we get

$$(\lambda+1)\tilde{s}^2 - 1 \ge 0,$$

that is, $\tilde{s}^2 \geq \frac{1}{1+\lambda} \geq \frac{1}{1+\lambda_0} > 0$. Thus, $\tilde{u} = \tilde{s}z_0 + \tilde{v} \neq 0$. We also get a contradiction. Therefore, the proof is finished by Cases 1 and 2.

Therefore, Lemmas 2.2 and 2.3 imply condition (d) of Theorem A holds. Applying Theorem A, we soon obtain the following fact:

Lemma 2.4. For almost all $\lambda \in [1, \lambda_0]$, there exists a sequence $\{u^j\}$ such that

$$\sup_{i} \|u^{j}\| < \infty, \quad \Phi_{\lambda}'(u^{j}) \to 0 \quad and \quad \Phi_{\lambda}(u^{j}) \to c_{\lambda} \quad as \ j \to \infty,$$

where the definition of c_{λ} is given in Theorem A.

Lemma 2.5. ([19]) If (V_1) holds, then the embedding map from E into l^p is compact for all $p \in [2, \infty]$.

Lemma 2.6. For almost all $\lambda \in [1, \lambda_0]$, there exists a $u_{\lambda} \in E$ such that

$$\Phi'_{\lambda}(u_{\lambda}) = 0, \quad \Phi_{\lambda}(u_{\lambda}) = c_{\lambda}.$$

Proof. Let $\{u^j\}$ be the sequence obtained in Lemma 2.4. Since $\{u^j\}$ is bounded, we can assume $u^j \rightharpoonup u_\lambda$ in E and $u_n^j \to u_{\lambda,n}$ for all $n \in \mathbb{Z}$. By Lemma 2.4 and the fact that Φ'_{λ} is weakly sequentially continuous, we have

$$\langle \Phi'_{\lambda}(u_{\lambda}), \varphi \rangle = \lim_{j \to \infty} \langle \Phi'_{\lambda}(u^{j}), \varphi \rangle = 0, \quad \forall \varphi \in E.$$

That is, $\Phi'_{\lambda}(u_{\lambda}) = 0.$

Note that (G_1) and (G_3) imply that there exists a constant C such that

$$|g_n(s)s| \le C(|s|^2 + |s|^p), \quad |G_n(s)| \le C(|s|^2 + |s|^p), \quad n \in \mathbb{Z}, \ s \in \mathbb{R}.$$

It follows from $u^j \to u_\lambda$ in $E, u_n^j \to u_{\lambda,n}$ and $g_n(u_n^j)u_n^j \to g_n(u_{\lambda,n})u_{\lambda,n}$ for all $n \in \mathbb{Z}$, Lemma 2.5 and the Lebesgue's dominated convergence theorem that

$$\sum_{n=-\infty}^{+\infty} \frac{1}{2} g_n(u_n^j) u_n^j \to \sum_{n=-\infty}^{+\infty} \frac{1}{2} g_n(u_{\lambda,n}) u_{\lambda,n}$$
(2.7)

and

$$\sum_{n=-\infty}^{+\infty} G_n(u_n^j) \to \sum_{n=-\infty}^{+\infty} G_n(u_{\lambda,n})$$
(2.8)

as $j \to \infty$. By Lemma 2.4, we have

$$\Phi_{\lambda}(u^{j}) - \frac{1}{2} \langle \Phi_{\lambda}'(u^{j}), u^{j} \rangle = \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_{n}(u_{n}^{j}) u_{n}^{j} - G_{n}(u_{n}^{j}) \right) \to c_{\lambda}, \quad j \to \infty$$

It follows from $\Phi'_{\lambda}(u_{\lambda}) = 0$ and (2.7)–(2.8) that

$$\Phi_{\lambda}(u_{\lambda}) = \Phi_{\lambda}(u_{\lambda}) - \frac{1}{2} \langle \Phi_{\lambda}'(u_{\lambda}), u_{\lambda} \rangle = \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u_{\lambda,n}) u_{\lambda,n} - G_n(u_{\lambda,n}) \right) = c_{\lambda}.$$

This completes the proof.

72 Page 10 of 15

Applying Lemma 2.6, we obtain the following fact:

Lemma 2.7. For every $\lambda \in [1, \lambda_0]$, there are sequences $\{u^j\} \subset E$ and $\{\lambda_j\} \subset [1, \lambda_0]$ with $\lambda_j \to \lambda$ such that $\Phi'_{\lambda_j}(u^j) = 0$, $\Phi_{\lambda_j}(u^j) = c_{\lambda_j}$.

Lemma 2.8. Let
$$u = (u_n)_{n \in \mathbb{Z}} \in E$$
, $w = (w_n)_{n \in \mathbb{Z}} \in E^+$ and $0 \le r \le 1$, then

$$\sum_{n=-\infty}^{+\infty} \left(G_n(u_n) - G_n(rw_n) + r^2 g_n(u_n) w_n - \frac{1+r^2}{2} g_n(u_n) u_n \right) \le C,$$

where the constant $C := \sum_{n=-\infty}^{+\infty} |W_n|$ does not depend on u, w and r.

Proof. This follows from (G_5) if we take $s = u_n$ and $l = rw_n - u_n$.

Lemma 2.9. The sequence $\{u^j\}$ given in Lemma 2.7 is bounded.

Proof. Suppose by contradiction that

$$||u^j|| \to \infty \text{ as } j \to \infty.$$

We write $u^j = (u^j)^+ + (u^j)^-$, $(u^j)^{\pm} \in E^{\pm}$. Let $v^j := \frac{u^j}{\|u^j\|}$, then $(v^j)^+ = \frac{(u^j)^+}{\|u^j\|}$, $(v^j)^- = \frac{(u^j)^-}{\|u^j\|}$ and $\|v^j\|^2 = \|(v^j)^+\|^2 + \|(v^j)^-\|^2 = 1$. Thus, we can assume that $(v^j)^{\pm} \rightharpoonup v^{\pm}$ in E and $(v^j)^{\pm}_n \rightarrow v^{\pm}_n$ for all $n \in \mathbb{Z}$, after passing to a subsequence.

Case 1 If $v^+ \neq 0$, then $v \neq 0$. Let Ω_1 be the subset of \mathbb{Z} where $v_n \neq 0$, then we have $|u_n^j| = |v_n^j| \cdot ||u^j|| \to +\infty$ on Ω_1 . It follows from (G_4) and $\sum_{n=-\infty}^{+\infty} |W_n| < +\infty$ that

$$\sum_{n=-\infty}^{+\infty} \frac{G_n(u_n^j)}{|u_n^j|^2} |v_n^j|^2 \ge \sum_{n\in\Omega_1} \frac{G_n(u_n^j)}{|u_n^j|^2} |v_n^j|^2 - \sum_{n\in\mathbb{Z}\setminus\Omega_1} \frac{|W_n|}{\|u^j\|^2} \to +\infty \quad \text{as } j\to\infty,$$

which together with the fact that the $||(v^j)^{\pm}||$ are bounded and Lemmas 2.2 and 2.7 hold implies that

$$0 \le \frac{c_{\lambda_j}}{\|u^j\|^2} = \frac{\Phi_{\lambda_j}(u^j)}{\|u^j\|^2} = \frac{\lambda_j}{2} \|(v^j)^+\|^2 - \frac{1}{2} \|(v^j)^-\|^2 - \sum_{n=-\infty}^{+\infty} \frac{G_n(u^j_n)}{|u^j_n|^2} |v^j_n|^2 \to -\infty \quad \text{as } j \to \infty.$$

This creates a contradiction.

Case 2 If $v^+ = 0$. We claim that there is a constant C > 0 independent of u^j and λ_j such that

$$\Phi_{\lambda_j}(r(u^j)^+) - \Phi_{\lambda_j}(u^j) \le C, \quad \forall r \in [0, 1].$$

$$(2.9)$$

Note that Lemma 2.7 and the definition of Φ_{λ_j} imply that

$$\frac{1}{2} \langle \Phi'_{\lambda_j}(u^j), \varphi \rangle = \frac{1}{2} \lambda_j((u^j)^+, \varphi^+) - \frac{1}{2} ((u^j)^-, \varphi^-) - \frac{1}{2} \sum_{n=-\infty}^{+\infty} g_n(u^j_n) \varphi_n = 0, \quad \forall \varphi \in E.$$

It follows from the definition of Φ_{λ_j} that

$$\Phi_{\lambda_j}(r(u^j)^+) - \Phi_{\lambda_j}(u^j)$$

$$= \frac{1}{2}\lambda_j(r^2 - 1) \|(u^j)^+\|^2 + \frac{1}{2}\|(u^j)^-\|^2 + \sum_{n=-\infty}^{+\infty} \left[G_n(u_n^j) - G_n(r(u^j)_n^+)\right]$$

$$+ \frac{1}{2}\lambda_j((u^j)^+, \varphi^+) - \frac{1}{2}((u^j)^-, \varphi^-) - \frac{1}{2}\sum_{n=-\infty}^{+\infty} g_n(u_n^j)\varphi_n.$$
(2.10)

Take

$$\varphi = (r^2 + 1)(u^j)^- - (r^2 - 1)(u^j)^+ = (r^2 + 1)u^j - 2r^2(u^j)^+,$$

which together with Lemma 2.8 and (2.10) implies that

$$\begin{split} \Phi_{\lambda_j}(r(u^j)^+) &- \Phi_{\lambda_j}(u^j) \\ &= -\frac{r^2}{2} \| (u^j)^- \|^2 + \sum_{n=-\infty}^{+\infty} \left[G_n(u_n^j) - G_n(r(u^j)_n^+) + r^2 g_n(u_n^j)(u^j)_n^+ - \frac{1+r^2}{2} g_n(u_n^j)u_n^j \right] \\ &\leq \sum_{n=-\infty}^{+\infty} \left[G_n(u_n^j) - G_n(r(u^j)_n^+) + r^2 g_n(u_n^j)(u^j)_n^+ - \frac{1+r^2}{2} g_n(u_n^j)u_n^j \right] \\ &\leq C. \end{split}$$

Thus, (2.9) holds.

Let $C_0 > 0$ be fixed constant. Then $||u^j|| \to \infty$ as $j \to \infty$ implies that

$$r_j := \frac{C_0}{\|u^j\|} \to 0 \quad \text{as } j \to \infty.$$

Therefore, (2.9) implies that

$$\Phi_{\lambda_j}(r_j(u^j)^+) - \Phi_{\lambda_j}(u^j) \le C$$

for all sufficiently large j. It follows from $(v^j)^+ = \frac{(u^j)^+}{\|u^j\|}$ and Lemma 2.7 that for all sufficiently large j we have

$$\Phi_{\lambda_j}(C_0(v^j)^+) \le C' \tag{2.11}$$

for some constant C'. Note that Lemmas 2.2 and 2.7 and (G_4) imply that

$$0 \leq \frac{c_{\lambda_j}}{\|u^j\|^2} = \frac{\Phi_{\lambda_j}(u^j)}{\|u^j\|^2} = \frac{\lambda_j}{2} \|(v^j)^+\|^2 - \frac{1}{2} \|(v^j)^-\|^2 - \frac{\sum_{n=-\infty}^{+\infty} G_n(u^j_n)}{\|u^j\|^2}$$
$$\leq \frac{\lambda_0}{2} \|(v^j)^+\|^2 - \frac{1}{2} \|(v^j)^-\|^2 + \frac{\sum_{n=-\infty}^{+\infty} |W_n|}{\|u^j\|^2}.$$

It follows from $\frac{\sum_{n=-\infty}^{+\infty}|W_n|}{\|u^j\|^2} \to 0$ as $j \to \infty$ (since $W \in l^1$ and $\|u^j\| \to \infty$) that

$$\frac{\lambda_0}{2} \| (v^j)^+ \|^2 - \frac{1}{2} \| (v^j)^- \|^2 + \varepsilon \ge 0, \quad \forall \varepsilon > 0$$
(2.12)

for all sufficiently large *j*. We take $\varepsilon = \frac{1}{4}$, by (2.12) and $||v^j||^2 = ||(v^j)^+||^2 + ||(v^j)^-||^2 = 1$, we have

$$\|(v^j)^+\|^2 \ge \frac{1}{2(1+\lambda_0)} \tag{2.13}$$

for all sufficiently large j. By (G_1) and (G_3) , we have

$$\sum_{n=-\infty}^{+\infty} G_n(C_0(v^j)_n^+) \\ \leq \frac{1}{2} \gamma C_0^2 \sum_{\substack{\{n \in \mathbb{Z}: \ |C_0(v^j)_n^+| < \delta\}}} |(v^j)_n^+|^2 + \frac{1}{2}c \sum_{\substack{\{n \in \mathbb{Z}: \ |C_0(v^j)_n^+| \ge \delta\}}} (C_0|(v^j)_n^+| + C_0^p|(v^j)_n^+|^p) \\ \leq \frac{1}{2} \gamma C_0^2 \sum_{\substack{\{n \in \mathbb{Z}: \ |C_0(v^j)_n^+| < \delta\}}} |(v^j)_n^+|^2 + C_1 \sum_{\substack{\{n \in \mathbb{Z}: \ |C_0(v^j)_n^+| \ge \delta\}}} |(v^j)_n^+|^p \\ \leq \frac{1}{2} \gamma C_0^2 ||(v^j)^+||_{l^2}^2 + C_1 ||(v^j)^+||_{l^p}^p \end{cases}$$
(2.14)

for some constant C_1 , where the inequality marked by underlining is similar to the expression in Lemma 2.2. For all sufficiently large j, (2.13) and (2.14) follow from Lemma 2.5 and the fact that $v^+ = 0$ and

$$\Phi_{\lambda_j}(C_0(v^j)^+) = \frac{1}{2}\lambda_j C_0^2 ||(v^j)^+||^2 - \sum_{n=-\infty}^{+\infty} G_n(C_0(v^j)^+_n)$$

$$\geq \frac{1}{2}\lambda_j C_0^2 \frac{1}{2(1+\lambda_0)} - \frac{1}{2}\gamma C_0^2 ||(v^j)^+||_{l^2}^2 - C_1 ||(v^j)^+||_{l^p}^p$$

$$\rightarrow \frac{\lambda C_0^2}{4(1+\lambda_0)} \quad \text{as } j \to \infty.$$

This implies that $\Phi_{\lambda_i}(C_0(v^j)^+) \to +\infty$ as $C_0 \to +\infty$, contrary to (2.11).

Therefore, the sequence $\{u^j\}$ is bounded. The proof is finished.

3. Proofs of main results

Proof of Theorem 1.1. From Lemma 2.7, there are sequences $1 \leq \lambda_j \to 1$ and $\{u^j\} \subset E$ such that $\Phi'_{\lambda_j}(u^j) = 0$ and $\Phi_{\lambda_j}(u^j) = c_{\lambda_j}$. Lemma 2.9 implies $\{u^j\}$ is bounded; thus, we can assume $u^j \to u$ in E, $u^j_n \to u_n$ for all $n \in \mathbb{Z}$. By the fact Φ'_{λ_j} is weakly sequentially continuous on E (it is similar to the fact Φ'_{λ_j} is weakly sequentially continuous on E, which is below Theorem A) and $\Phi'_{\lambda_j}(u^j) = 0$, we have

$$0 = \lim_{j \to \infty} \langle \Phi'_{\lambda_j}(u^j), \varphi \rangle = \langle \Phi'(u), \varphi \rangle, \quad \forall \varphi \in E.$$

Therefore, $\Phi'(u) = 0$.

The facts $\Phi'_{\lambda_i}(u^j) = 0$ and $\Phi_{\lambda_j}(u^j) = c_{\lambda_j}$ imply that

$$\Phi_{\lambda_j}(u^j) - \frac{1}{2} \langle \Phi'_{\lambda_j}(u^j), u^j \rangle = \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u^j_n) u^j_n - G_n(u^j_n) \right) = c_{\lambda_j} \ge c_1.$$
(3.1)

Similar to (2.7) and (2.8), we know

$$\sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u_n^j) u_n^j - G_n(u_n^j) \right) \to \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u_n) u_n - G_n(u_n) \right) \quad \text{as } j \to \infty.$$

It follows from (3.1), Lemma 2.2 and $\Phi'(u) = 0$ that

$$\Phi(u) = \Phi(u) - \frac{1}{2} \langle \Phi'(u), u \rangle = \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u_n) u_n - G_n(u_n) \right)$$
$$= \lim_{j \to \infty} \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u_n^j) u_n^j - G_n(u_n^j) \right) \ge c_1 \ge \epsilon > 0$$

It implies that $u \neq 0$. Therefore, (1.1) has a non-trivial solution u.

By using the argument borrowed from [20], we will show that u satisfies (1.6). In fact, let

$$z_n = -\sigma \frac{g_n(u_n)}{u_n}$$
 if $u_n \neq 0$ and $z_n = 0$ if $u_n = 0$, $n \in \mathbb{Z}$,

then

$$Lu_n = \omega u_n, \tag{3.2}$$

where $\tilde{L}u_n = Lu_n + z_n u_n$. Note that

$$g_n(s) = o(s)$$
 as $s \to 0$ for all $n \in \mathbb{Z}$, $s \in \mathbb{R}$

and $\lim_{|n|\to\infty} u_n = 0$ imply that $\lim_{|n|\to\infty} z_n = 0$. Thus, the multiplication by z_n is a compact operator in l^2 , which implies that $\sigma_e(\tilde{L}) = \sigma_e(L)$, where σ_e stands for the essential spectrum. Equation (3.2) means that $u = \{u_n\}$ is an eigenfunction that corresponds to the eigenvalue of finite multiplicity $\omega \notin \sigma_e(\tilde{L})$ of the operator \tilde{L} . Equation (1.6) follows from the standard theorem on exponential decay for such eigenfunctions [16].

Proof of Theorem 1.2. By Theorem 1.1, $\mathcal{M} \neq \emptyset$, where \mathcal{M} is the collection of solutions of (1.1). Let

$$\alpha := \inf_{u \in \mathcal{M}} \Phi(u).$$

If u is a solution of (1.1), then by Lemma 2.8 (take r = 0),

$$\Phi(u) = \Phi(u) - \frac{1}{2} \langle \Phi'(u), u \rangle = \sum_{n = -\infty}^{+\infty} \left(\frac{1}{2} g_n(u_n)_n - G_n(u_n) \right) \ge -C = -\sum_{n = -\infty}^{+\infty} |W_n|.$$

Thus, $\alpha > -\infty$. Let $\{u^j\}$ be a sequence in \mathcal{M} such that

$$\Phi(u^j) \to \alpha. \tag{3.3}$$

Similar to the proof of Lemma 2.9, we conclude that the sequence $\{u^j\}$ is bounded in E. Thus, $u^j \to u$ in E and $u_n^j \to u_n$ for all $n \in \mathbb{Z}$, after passing to a subsequence. Therefore, by the facts that Φ' is weakly sequentially continuous on E and $\Phi'(u^j) = 0$, we have

$$\langle \Phi'(u), \varphi \rangle = \lim_{j \to \infty} \langle \Phi'(u^j), \varphi \rangle = 0, \quad \forall \varphi \in E.$$

That is, $\Phi'(u) = 0$.

Note that $\Phi'(u^j) = 0$, similar to (2.7) and (2.8), we have

$$\Phi(u^j) = \Phi(u^j) - \frac{1}{2} \langle \Phi'(u^j), u^j \rangle$$
$$= \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u^j_n) u^j_n - G_n(u^j_n) \right) \to \sum_{n=-\infty}^{+\infty} \left(\frac{1}{2} g_n(u_n) u_n - G_n(u_n) \right) \quad \text{as } j \to \infty.$$

It follows from $\Phi'(u) = 0$ and (3.3) that

$$\Phi(u) = \Phi(u) - \frac{1}{2} \langle \Phi'(u), u \rangle = \sum_{n=-\infty}^{+\infty} \left[\frac{1}{2} g_n(u_n) u_n - G_n(u_n) \right]$$
$$= \lim_{j \to \infty} \Phi(u^j) = \alpha.$$

Now, we suppose that

$$g_n(s) = o(s)$$
 as $s \to 0$ for all $n \in \mathbb{Z}$, $s \in \mathbb{R}$.

It follows form (G_1) that for any $\varepsilon > 0$ there is a constant $C_{\varepsilon} > 0$ such that

 $|g_n(s)| \le \varepsilon |s| + C_{\varepsilon} |s|^{p-1} \text{ for all } n \in \mathbb{Z} \text{ and } s \in \mathbb{R}.$ (3.4)

Let

$$\beta := \inf_{u \in M'} \Phi(u),$$

where $M' := \mathcal{M} \setminus \{0\}$. Let $\{u^j\}$ be a sequence in $\mathcal{M} \setminus \{0\}$ such that

$$\Phi(u^j) \to \beta. \tag{3.5}$$

Similar to the proof of Lemma 2.9, we conclude that the sequence $\{u^j\}$ is bounded in E. Thus, $u^j \rightarrow u$ in E, after passing to a subsequence. Note that

$$0 = \langle \Phi'(u^j), (u^j)^+ \rangle = \|(u^j)^+\|^2 - \sum_{n=-\infty}^{+\infty} g_n(u_n^j)(u^j)_n^+,$$

which together with (3.4), the Hölder's inequality and the fact $||u||_{l^p} \leq ||u||_{l^2} \leq C||u||$ for $u \in E$ implies

$$\begin{aligned} \|(u^{j})^{+}\|^{2} &= \sum_{n=-\infty}^{+\infty} g_{n}(u_{n}^{j})(u^{j})_{n}^{+} \\ &\leq \varepsilon \sum_{n=-\infty}^{+\infty} |u_{n}^{j}| \cdot |(u^{j})_{n}^{+}| + C_{\varepsilon} \sum_{n=-\infty}^{+\infty} |u_{n}^{j}|^{p-1} |(u^{j})_{n}^{+}| \\ &\leq \varepsilon C \|u^{j}\| \cdot \|(u^{j})^{+}\| + C_{\varepsilon}^{\prime\prime}\|u^{j}\|_{l^{p}}^{p-1}\|(u^{j})^{+}\| \\ &\leq \varepsilon C \|u^{j}\| \cdot \|(u^{j})^{+}\| + C_{\varepsilon}^{\prime\prime\prime}\|u^{j}\|_{l^{p}}^{p-2}\|u^{j}\| \cdot \|(u^{j})^{+}\| \\ &\leq \varepsilon C \|u^{j}\|^{2} + C_{\varepsilon}^{\prime\prime}\|u^{j}\|_{l^{p}}^{p-2}\|u^{j}\|^{2}. \end{aligned}$$

$$(3.6)$$

Similarly, we have

$$\|(u^{j})^{-}\|^{2} \leq \varepsilon C \|u^{j}\|^{2} + C_{\varepsilon}^{\prime\prime}\|u^{j}\|_{l^{p}}^{p-2}\|u^{j}\|^{2}.$$
(3.7)

From (3.6) and (3.7), we get

$$|u^{j}||^{2} = ||(u^{j})^{+}||^{2} + ||(u^{j})^{-}||^{2} \le 2\varepsilon C ||u^{j}||^{2} + 2C_{\varepsilon}'' ||u^{j}||_{l^{p}}^{p-2} ||u^{j}||^{2},$$

which means $||u^j||_{l^p} \ge C$ for some constant C > 0. Since Lemma 2.5 implies $u^j \to u$ in l^p , we know $u \ne 0$. As before, we can easily get $\Phi(u^j) \to \Phi(u) = \beta$ as $j \to \infty$. Therefore, (1.1) has a ground state solution.

Acknowledgements

We would like to thank the referee for his/her valuable comments which have led to an improvement of the presentation of this paper.

References

- Christodoulides, D.N., Lederer, F., Silberberg, Y.: Discretizing light behaviour in linear and nonlinear waveguide lattices. Nature 424, 817–823 (2003)
- Chen, G., Ma, S.: Discrete nonlinear Schrödinger equations with superlinear nonlinearities. Appl. Math. Comput. 218, 5496–5507 (2012)
- Chen, G., Ma, S.: Ground state and geometrically distinct solitons of discrete nonlinear Schrödinger equations with saturable nonlinearities. Stud. Appl. Math. 131, 389–413 (2013)
- Chen, G., Ma, S.: Homoclinic solutions of discrete nonlinear Schrödinger equations with asymptotically or super linear terms. Appl. Math. Comput. 232, 787–798 (2014)
- Kopidakis, G., Aubry, S., Tsironis, G.P.: Targeted energy transfer through discrete breathers in nonlinear systems. Phys. Rev. Lett. 87, 165501 (2001)
- Kevreides, P.G., Rasmussen, K., Bishop, A.R.: The discrete nonlinear Schrödinger equation: a survey of recent results. Int. J. Mod. Phys. B 15, 2883–2900 (2001)
- 7. Kivshar, Y.S., Agrawal, G.P.: Optical Solitons: From Fibers to Photonic Crystals. Academic Press, San Diego (2003)
- Livi, R., Franzosi, R., Oppo, G.-L.: Self-localization of Bose-Einstein condensates in optical lattices via boundary dissipation. Phys. Rev. Lett. 97, 060401 (2006)

- 9. Pankov, A.: Gap solitons in periodic discrete nonlinear Schrödinger equations. Nonlinearity 19, 27–40 (2006)
- Pankov, A.: Gap solitons in periodic discrete nonlinear Schrödinger equations II: a generalized Nehari manifold approach. Discrete Contin. Dyn. Syst. 19, 419–430 (2007)
- Pankov, A., Zhang, G.: Standing wave solutions for discrete nonlinear Schrödinger equations with unbounded potentials and saturable nonlinearity. J. Math. Sci. 177(1), 71–82 (2011)
- Schechter, M., Zou, W.: Weak linking theorems and Schrödinger equations with critical Sobolev exponent. ESAIM Control Optim. Calc. Var. 9, 601–619 (2003)
- 13. Schechter, M.: Superlinear Schrödinger operators. J. Funct. Anal. 262, 2677-2694 (2012)
- 14. Shi, H., Zhang, H.: Existence of gap solitons in periodic discrete nonlinear Schrödinger equations. J. Math. Anal. Appl. **361**, 411–419 (2010)
- Shi, H.: Gap solitons in periodic discrete Schrödinger equations with nonlinearity. Acta Appl. Math. 109, 1065– 1075 (2010)
- Teschl, G.: Jacobi Operators and Completely Integrable Nonlinear Lattices. Mathematical Surveys and Monographs, vol. 72. American Mathematical Society, Providence (2000)
- 17. Weintein, M.: Excitation thresholds for nonlinear localized modes on lattices. Nonlinearity 12, 673-691 (1999)
- Yang, Z., Chen, W., Ding, Y.: Solutions for discrete periodic Schrödinger equations with spectrum 0. Acta. Appl. Math. 110, 1475–1488 (2010)
- Zhang, G., Pankov, A.: Standing waves of the discrete nonlinear Schrödinger equations with growing potentials. Commun. Math. Anal. 5(2), 38–49 (2008)
- Zhang, G., Pankov, A.: Standing wave solutions of the discrete non-linear Schrödinger equations with unbounded potentials, II. Appl. Anal. 89(9), 1541–1557 (2010)
- Zhou, Z., Yu, J.: On the existence of homoclinic solutions of a class of discrete nonlinear periodic systems. J. Differ. Equ. 249, 1199–1212 (2010)
- 22. Zhou, Z., Yu, J., Chen, Y.: On the existence of gap solitons in a periodic discrete nonlinear Schrödinger equation with saturable nonlinearity. Nonlinearity 23, 1727–1740 (2010)
- Zhou, Z., Yu, J., Chen, Y.: Homoclinic solutions in periodic difference equations with saturable nonlinearity. Sci. China Math. 54, 83–93 (2011)

Guanwei Chen School of Mathematical Sciences University of Jinan Jinan 250022 Shandong Province People's Republic of China e-mail: guanweic@163.com

Martin Schechter Department of Mathematics University of California Irvine, CA 92697-3875, USA

(Received: February 5, 2016; revised: April 27, 2016)